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Features °-%F'-'§-' “EA [0
<~ Low voltage,Low inductance. | 265

< High current rectifier schottky diode.

< For power supply.

<>

For detection and step-up-conversion. HO%

Applications

< Schottky barrier detector. Dimensions in inches and (millimeters)

Ordering Information

Type No. Marking Package Code

BAT60B W5e SOD-323

MAXIMUM RATING @ Ta=25C unless otherwise specified

Parameter Symbol Limits Unit
Peak reverse voltage Vru 10 \
DC Reverse Voltage Vg 10 \
Average Rectified Output Current lo 3 A
Forward Surge Current lesm 5 A
Total Power Dissipation Prot 350 mw
Junction temperature T 150 C
Storage temperature range Tsig -55-150

ELECTRICAL CHARACTERISTICS @ Ta=25°C unless otherwise specified

Parameter Symbol | Conditions Min. Typ. Max. Unit
[-=10mA 0.2 0.24 0.3 V
[r=100mA 0.26 0.32 0.38 Vv
Forward voltage Ve I-=500mA 032 |04 0.5 v
[F=1000mA 0.36 0.48 0.6 V
Reverse current Ir VRSV > 15 MA
Vr=8v 10 25
Capacitance between terminals | Ct Vr=5v,f=1MHz 12 25 30 pF
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A LGE BAT60B

Schottky Barrier Diode

TYPICAL CHARACTERISTICS @ Ta=25°C unless otherwise specified

Reverse current /g = f(VR) Forward current /g = f (Tg)
Ta = Parameter
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